Sr Questions Answers Choice

. By

. Steer
Manage
. Destroy

1 The ports of India could not_cope with all the ships

Penalized
Suffered
Died
Deserted

2 Nine and a half million people perished in a single famine

. Venerable
Remote
Big

. Glorious

3 A tremendous populations explosion is taking place.

Expansion

. Enlargement
. Limitation
Enrichment

4 We must at the same time make every effort to encourage .................... of families.

Alert
Active
senseless
Alive

5 We must do in the mean time is to keep.........ccceeen. as many people as we can.
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Reduce
Increase
Deduce
. Aggrandize

6 The only long term answer for these countries is to........... their birth rate.

Land loards
Poor

Mill owners

. Industrialists

7 We ware creating a situation which encourages the----------------- to make war on the rich.

. Population
Roods

. Earthquakes
war

8 In the past the population has not only been reduced by famine and disease but also by.
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sized
Ground
Developed
World

9 An under......... country is characterized by poverty with beggars in the cities.

Solutions

. Recreations
Paradoxes
Amusements

10 The study of the population growth indicates one of the greatest .................. of our time.

Penicillin

T.V.
Tetracycline

. Dish antenna

11 Soon after the discovery of................. it was realized that yews could be cured.

Typhoid
Malaria
Gout

. Diphtheria

12 In Ceylon, the death rate was reduced by ne third in two years by greatly reducing mortality

Mane
Main
Means
Men's

13 But even in these areas the lowdeath ratee........................ that the population is still growing
fairly rapidly.

. Production

14 Among the Western, nations because of the decline in the birth rate, the ............... is not
now growing so fast.

. grain
. crops
. Population
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A. two
B. four
C. five
D. One

15 One couple need only produce just............. children to replace themselves.



16

17

18

19

20

Now in the industrial countries of the west.................... out of 20 become adults.

The population is growing at the rate of 6.6 per................... of the population.

In the U.K. the death rate for 1963 was.

In the U.K. the birth rate for 1963 was.

The man reason for population increase is the ............ between the birth rate and death
rate.
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15

14
10

100
400

1500

9.6
7.6
5.6

10.2
1.2
15.2

. Deference
. Resemblance
. Equality



